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QUIZ MASTER

MTH501(13 TO 17)
100% correct solution.
For more information you can visit my channel and for
any type of help related to CS619 you can contact me.

YOUTUBE CHANNEL:
https://www.youtube.com/channel /UCINsFwDiB62SValCcPDZbRQ/playlists

FACEBOOK GROUP:
https://www.facebook.com/groups/923887914750307
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MTH501:Quiz-1 Quiz Start Time: 10:38 AM, 07 Decemk
Question # 1 of 10 ( Start time: 10:38:42 AM, 07 December 2020) Total |

Let T be a linear transformation and A be a standard matrix for T. Then, T is invertible if and only if A 1s a (an) matrix.
Select the correct option \

singular

\\
O 0%

o invertible Q.\\,\/S - \\

4

column

oy
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2 MTH501:Quiz-1 Quiz Start Time: 10:38 AM. 07 December 20z 5
2 Question # 2 of 10 { Start time: 10:39:32 AM. 07 December 2020 ) Total Marks: 5
§ Let A and B be the square matrices. Then, A and B are invertible with B= A ' and A = B! ifand only if AB = BA 5
equalstoa(an) ____ matrx
S 4
S 4
S _ 4
S ot pe \ ¢
S singular %‘ 1
3 © Qo: S
S @é — g
square

g O ) ’» 5
Q Vo AN 5
S — S —

) _ identity \ \ 5
> L

> 4
S b4
) rectangular (
Q N <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
> £
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MIHS50T:Quz-1 Quiz Start hime: 1038 AM. 0/ December 2020
Question # 3 of 10 ( Start time: 10:39:48 AM. 07 December 2020 ) Total Marks: 1
A partitioned square matrix "A’ is said to be matrix if the matrices on the main diagenal are square and all matrices below the

main diagonal are zero.

Select the correct option

0 \ok?o ) ”

diagonal-constant $\ \ \
° o \\

block lower tnangular

O ;

kS

block upper triangular

=) P
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MTH501:Quiz-1 Quiz Start Time: 10

Question # 4 of 10 { Start time: 10:40:06 AM. 07 December 2020 )

The computational efficiency of the LU factorization depends on knowing

Select the correct option
(@) lower triangular
\ \

matrix (matrices).

(b) upper triangular $
O A\,
R

B

ic) diagonal

(d) both (&) and (b)
Fr
)
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MTH501:Quiz-1 Q

Question # 5 of 10 { Start time: 10:40:21 AM. 07 December 2020 )

Mon square matrices do not have inverse

RN

Select the comrect option

True

[
)

v
False %

\Q
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MTH501:Quiz-1

Question # 6 of 10 ( Start time: 10:40:36 AM, 07 December 2020 )

Gauss-Seidel method is also termed as a method of

N
_ N
Select the correct option
Elimination Method v
° Q¥
N L
False Position M@fod M
0 N
§ ‘1'““'-\..,_,

Successive Displacement
ko d

lteration Method
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MTH501:Quiz-1 Quiz Start Time:

Question # 7 of 10 { Start time: 10:40:52 AM, 07 December 2020 )

The matrix of coefficients either have no solution or have infinite solution is system of equation are

Select the correct option

Linearly dependent

[

. Qo

u\)

Linearly independent

O ~\
Cluadratic and independ;nt
Cluadratic and dependent
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S P4
S P4
2 MTH501:Quiz-1 Quiz Start Tim 5
S P4
2: Question # § of 10 { Start time: 10:47:11 AM. 07 December 2020 ) 5
S A miatrix in which each descending diagonal from left fo right is constant is called a matrix. [
S P4
S P4
S 2
S P4
S P4
S o P4
2: Select the comect option l \ 5
S diagonal-constant \ P 4
2: ) \be. 5
b
3 N :
i o block lower tnangular @\‘) ’ \ __\ g
S 2
Q -\, 4
2 block upper triangul@ ] $
d 4
> O <
D <
> i <
) o diagonal (
> <
> <
> 4
> 4
> <
> 4
> <
> <
> <
> <
> Y 4
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MTH501:Quiz-1 Quiz Start Time: 10:38 AM. 07 [

Question # 9 of 10 ( Start time: 10:41:27 AM, 07 December 2020)

A matrix can be subdivided into sub matrices in various ways by inserting lines between selected and columns.

N\
O
Select the correct option fb
N

— 2Q
5 &
QY

5 diagonals Q.\\,\,\ “\

rows

)

@
b _d

blocks
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MTH501:Quiz-1

Question # 10 of 10 { Start time: 10:41:43 AM. 07 December 2020 }

In Jacobi's method. the diagonal entries of & matrix are

>
Select the correct option X‘\
zero
O
all zero
O

any constant \ \

all nonzero

O

b _d

2" account
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MTH501:Quiz-1

Question # 1 of 10 { Start time: 05:35:29 PM. 07 December 2020 )

What is the maximum possible number of pivots in a 4x6 matrix ?

Select the correct option

* >

10

LSS L LSLSLSLLSL LS SLSLLLSL LS LLLLLLSL L SLLLLL L LSS
. "P
NN N NN NN NN NN NN NN N NN NN NN NN NN NN NN NN
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S P4
S P4
2: MTH501:Quiz-1 5
S P4
S Question # 2 of 10 ( Start time: 05:35:52 PM. 07 December 2020 ) 1
2 What is the maximum possible number of pivots ina '3 by 3' matrix ? 5
S P4
S P4
S P4
S P4
S AN 2
S > 2
2 Select the correct option ( N 5
S 0 P4
S P4
3 O 2
3 A\ ¢
g | QR ?
3 O $
»

D 4
> 3 - 4
$ — T~ 4
S O b4
S b4
S b4
S 5 b4
S b4
$ O 4
S b4
S b4
S b4
S b4
S b4
S b4
$ b4
$ b4
S b4
> ' 4
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MTH501:Quiz-1

Question # 3 of 10 ( Start time: 05:36:08 PM, 07 December 2020 )

The inverse of a matrix exists if and only if it is @ non-singular matrix

Select the correct option

2

@\}
Qv \
False » \\
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MTH501:Quiz-1

Question # 4 of 10 ( Start time: 05:36:22 PM. 07 December 2020 )

Quiz Start Time: 05:35 PM. 07 December 2020

Total Marks: 1

A partitioned matrix ‘A’ is said to be block diagonal if the matrices on the main diagonal are square and all other position matrices are

Select the correct option m /_\

Zerg

O Q\}Qo‘ \
Q;\’\’\

\\

nonzero symmetric

nonzero skew symmetric
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MTH501:Quiz-1 h

Question # 5 of 10 { Start time: 05:36:40 PM. 07 December 2020 )

What is the maximum possible number of pivots in a 6x6 matrig ?

f\\

Select the correct option \ \
0 fb‘
O N
g\\} \ y
2
o Ly N
ON . i
4 - —
@)
B
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MTH501:Quiz-1 Quiz Start Time: 05:35 PM, 07 December 2020

Question # 6 of 10 ( Start time: 05:36:52 PM, 07 December 2020 ) Total Marks: 1

If A is & square matrix. then the Minor of entry ith row and jth column is to be the determinant of the sub matrix that remains when the ith
row and jth column of A are:

Select the correct option

0 Q\)Qi \ ) )

deleted \

multiplied v

divided
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MTH501:Quiz-1 Quiz Start Time: 05:35 PM. 07 December 2020

Question # 7 of 10 ( Start time: 05:37:09 PM, 07 December 2020 ) Total Marks: 1

If @ system of equations i1s solved using the Gauss-Seidel method, then whigh of the following is the most appropriate answer about the
matrix M that is denved from the coefficient matrix ?

Select the correct option w
All of its entries on the diagonal must be zem$

O .\x P
All of its entries below the diagonal |¢t be zero.

O \ y

All of its entries above the diagonal must be zero. \\\

All of its entnes below and above the diagonal must be zero.
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MTH501:Quiz-1 Quiz Start Ti

Question # 8 of 10 { Start time: 05:37:25 PM. 07 December 2020 )

r——

Consider an LU-factorization, the matrix L is and is d a unit lower triangular matrix.

Select the correct option \6\\ /
invertible A\‘\
SN

singular . N \
o| 7 &

identity

Zern
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2 MTH501:Quiz-1 Quiz Start Time: 05:35 PM. 07 December 20: 5
2 Question # 9 of 10 ( Start time: 05:37:40 PM. 07 December 2020 ) Total Marks 5
S A partitioned square matrix A is said to be miatrix if the matrices on the main diagonal are square and all matrices above the 1
S main diagonal are zero. 1
S 4
S 4
S 4
S \ 4
z Select the correct option f% 5
nu /
) ol AN 2
: | :
(\

z diagonal-constant $\ 5
$ O . y 2
$ axv :
) block lower tnangular * ~

» (] ’ M ]
‘:\ LJ p 5
Q 3
2 block upper tnangular $
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MTHS501:Quiz-1

Question # 10 of 10 ({ Start time: 05:37:56 PM. 07 December 2020 )

For which of the matre, the Gauss-Seidel method is applicable?

A
Select the correct option ’b

MNull matrix 0%

O

Hectangular matri '»
[T >

Diagonally dominant matrix

Strictly diagonally dominant matrix \

b _d

3" account
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MTH501:Quiz-1 Quiz Start Time: 07-:07 PM, 07 December 2020

Question # 1 of 10 ( Start time: 07:07:27 PM. 07 December 2020 ) Total Marks: 1

If A Is & square matrix, then the Minor of entry ith row and jth column is to be the determinant of the sub matrix that remains when the ith
row and jth column of A are:

Select the comrect option % T~

- &
® .A/@é \\ .

multiplied ﬂ{s‘

divided
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MTH501:Quiz-1 L

Question # 2 of 10 ( Start time: 07:07:44 PM. 07 December 2020 )

For which of the matric, the Gauss-Seidel method is applicable?

Select the correct option %‘\

° @35\.,

Rectangular matrix %‘

O QSV
Diagonally dominant matrix
@)

Strictly diagonally dominant matrix
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MTH501:Quiz-1 Quiz Start Time: 07:07 PM, 07 December 2020

Question # 3 of 10 ( Start time: 07:07:57 PM. 07 December 2020 ) Total Marks: 1

If the absolute value of each diagonal entry in a square matrix exceeds the sum of the absolute values of the other entries in the same
rawe, then which of the following is true for the matrix?

Select the correct option )

(gé,\'b \\
° | f

It is a singular matrix.
o -\
Q ’

It is a diagonally dominant matrix

@) y

Itis a strictly diagenally dominant matroc
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Question # 4 of 10 ( Start time: 07:08:17 PM. 07 December 2020) Total |
S P4
2 A matrix can be subdivided into sub matrices in various ways by inserting lines between selected _ and columns. 5
S P4
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S P4
S AN 2
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elements
: 0 ) :
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MTH501:Quiz-1 Quiz Start Time: 07:07 PM, 07 December 202C

Question # 5 of 10 ( Start time: 07:08:31 PM. 07 December 2020 ) Total Marks:

As soon as an approximate solution of a linear system is sufficiently accurate for practical wark then which of the following is true for an
iterative process?

C 4

Select the correct option %\

The process may be stopped.

- N
. P () |

The process may be carried an. $\
-\ ’

The row-echelon method may be% \ \\\

The reduced row-echelon method may be used.
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MTH501:Quiz-1 Quiz Start Time: 07:07 PM. 07 Decen

Question # 6 of 10 ( Start time: 07-:08:46 PM. 07 December 2020) Tote

If A is invertible and b in B be any vectar. Then, we must have a matrix A *b which i a salution of

Select the correct option # Reload Math Ec
o N;r =b

° A@\; \\
0 L N
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MTH501:Quiz-1 Quiz Start

Question # 7 of 10 { Start time: 07:09:00 PM. 07 December 2020 )

A partitioned matrix is a partition of a matrix into rectangular smaller matrices called

Select the correct option

WA
> &)
W\

\ ™~

o

blocks
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MTH501:Quiz-1 Quiz Start Time: 07:07 PM. 07 December 2020

Question # 8 of 10 ( Start time: 07:09:18 PM, 07 December 2020 ) Total Marks: 1

If both the Jacobi and Gauss-Seidel sequences converge for the selution of Ax=b, for any initial x{0). then which of the following is true
about both the solutions?

Select the correct option
Mo solution . >
Unique solution §~§

Different solutions %

Infinitely many solutions
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MTH501:Quiz-1 Qur

Question # 9 of 10 { Start time: 07:09:32 PM. 07 December 2020 )

Gauss-Seidel method is similar to the

Select the correct option %\

lteration Method
© S
N\

Mewton Raphson Method %‘ }

%
S \

Regula-Falsi Methad

O

Jacobi Method
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MTH501:Quiz-1 Q

Question # 10 of 10 ( Start time: 07:09:46 PM. 07 December 2020 )

Gauss-Seidel method is also termed as a method of

Select the correct option
Elimination Method

; Q¥
Falge Position Method N\ .
0 Q

<

Successive Displacement

)

lteration Method

4% account
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MTH501:Quiz-1 Quiz £

Question # 1 of 10 ( Start time: 03:56:34 PM, 08 December 2020 )

The Jacaobi's iteration converges if a square matrix A is diagonally dominant.

\\
Select the correct option fb —\

2 g

T \)Q‘é‘
N\
Q;\,\/

False
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MTH501:Quiz-1 Quiz Start Time: 03:56 PM. 08 December 2020
Question # 2 of 10 { Start time: 03:56:51 PM, 08 December 2020 ) Total Marks: 1
Let ‘Ax =0 be a homogeneous linear system of 'n’ equations and 'n’ unknowns. Then, the coefficient matrix "A’ is invertible if and only if

this system has solution.
c. 4

Select the correct option (-\\

N\
D
) AN

infinite many
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MTH501:Quiz-1 Quiz St

Question # 3 of 10 { Start time: 03:57:11 PM. 08 December 2020 )

A decomposition of a matrix as a product of two or more matrices is called the matnx

Select the correct option (—_\\

compaosition

factorization $“ \\\

multiplication

transformation

LS LS LSS LSS LS LS LLLLLLLL LI
O
7,
NN NN NN NN NN NN NN NN NN NN NN
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MTHS501:Quiz-1

Question # 4 of 10 { Start time: 03:57:24 PM. 08 December 2020 )

Multiplication of a partitioned matrix by a scalar is also computed

Select the correct option

rowe by row
0 o}\
column by culumn
IR A S

diagonal by diagonal

block by block

b _d
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S MTH501:Quiz-1 Quiz Start Time: 03:56 PM. 08 De ]
S 4
% Question # 5 of 10 ( Start time: 03:57:37 PM. 08 December 2020 ) 1
S 4
S A matrix can be subdivided into sub matrices in various ways by inserting lines between selected and columns. 1
S 4
S 4
S P4
S (‘\ 2
S 4
2 Select the correct option \ \ 5
S elements - [
S o "\ P4
S ) 2
D O - 4
§ diagonals @- $
S O P 4
2 % 4
: e s
? @ 4
Q <
QS <
) blocks (
Q <
Q O <
Q <
Q <
Q <
Q <
Q <
Q <
QS <
QS <
QS <
QS <
QS <
> ' 4
A /
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MTH501:Quiz-1 Quiz Start Time: 03:56 PM. 08 December 2020

Question # 6 of 10 ( Start time: 03:57:52 PM. 08 December 2020 ) Total Marks: 1

LU-decompaosition converts the problem of solving the single system A x = b into the problem of solving the two systems, Ly=band Ux
=y, these systems are easy to solve because their co-efficient matrices are

Select the correct option \

diagonal hd
O ‘(\?\ .
triangular @0‘% K
\

identity .\/\V
0 <& 4

symmetric
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MTH501:Quiz-1 C

Question # 7 of 10 { Start time: 03:58:20 PM. 08 December 2020 )
What is the limitation of Gauss-Seidel method?

>

P

Select the correct option ‘Q/’ Jr/\
It cannot be used for the matric:&iﬂ@n%m diagonal elernegnts
'\’\/
It is more complex th obi's method
It doesn't guarantee convergence for each and every matrix T
A
k4
Itis an iterative technique
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2 MTH501:Quiz-1 Quiz Start Time: 03:56 PM, 08 December : 5
§ Question # 8 of 10 ( Start time: 03:58:32 PM. 08 December 2020 ) Total Mai 5
2 Let A and B be the square matrices. Then, A and B are invertible with B=A ' and A = B ! ifand anlyif AB = BA 5
equalstoa (an) ____ matrix.
S 4
S 4
S 4
z Select the correct option \ 5
S singular & [
3 O ) 4
S N (™ 3
z square $‘ 5
° & :
S c 4
‘:\ identity \ [
2 O $
$ 2
$ 4
) rectangular (
$ b4
d O 4
$ 4
$ b4
S b4
$ b4
S b4
S b4
$ b4
$ b4
S b4
S b4
$ b4
$ b4
S b4
> £
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2: MTH501:Quiz-1 Quiz Si 5
2: Question # 9 of 10 { Start time: 03:58:50 PM. 08 December 2020 ) 5
2 The Gauss-Seidel method is applicable to symmetric ----------- -definite matrices 5
S 4
S 4
S 4
S 4
S 4
S 4
S Select the correct option ,S 1
S Positive v 2
S 0 g
S = 4
D S 4
2 Megative N 5
3 © N :
Q 3
Q T <
2 Zero \ \\ :;
) O 2
Q 3
Q <
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> Equal ' 4
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MTH501:Quiz-1 Quiz 5t

Question # 10 of 10 ( Start time: 03:59:04 PM. 08 December 2020 )

If two rows or columns of a square matnix are identical, then det (A)wil be

8

Select the correct option K %\\
Zero ‘C\

b @0 H ‘\
o &\

one

positive

5t account
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MTH5S501:Quiz-1 Quiz Start Time

Question # 1 of 10 ( Start time: 04:43:25 PM. 08 December 2020 )

In Jacobi's method. the rate of convergence is quite -—-——-- compared with other methods.

Select the correct option q \

Fast 0
O -(\/®

<

Slow
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MTH501:Quiz-1 Quiz Start Time: 04-43 PM. 08 December 202

Question # 2 of 10 ( Start time: 04:43:41 PM. 08 December 2020 ) Total Marks:

The value of the determinant of a square matrix remains unchanged if we multiply each element of a row or a column by some scalar.

N
N

Select the correct option ,%

&

>
O ° ’\/®
FALSE Q:\
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MTH501:Quiz-1

Question # 3 of 10 { Start time: 04:43:55 PM, 08 December 2020 )

Gauss-Seidel method is similar to the

Select the correct option
Iteration Method

Mewton Raphs-:m t d

o g

Regula-Falsi Method

?

O

Jacobi Method

b _d
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MTH501:Quiz-1 Quiz Start Time: 04>

Question # 4 of 10 { Start time: 04:44:08 PM. 08 December 2020 )

The computational efficiency of the LU factorization depends on knowing matrix (matrices).

Select the correct option

(&) lower triangular

@
@) “Q«Q?—\\

(b) upper trangular v i

O Qv
&
(c) diagonal \ T
(d) both (a)and (b)
F
b _J
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S 4
S Question # 5 of 10 { Start time: 04:44:25 PM. 08 December 2020 ) Tol 1
2 By using determinants. we can easily check that the solution of the given system of linear equation exits and it is unique. 5
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S 4
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S Select the correct option 1
3 FALSE & g
S 4
S O . 2
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S 2
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MTH501:Quiz-1 Quiz Start Time: (

Question # 7 of 10 ( Start time: 04:44:53 PM. 08 December 2020 )

Consider an LU-factorization. the matrix L is and is called a unit lower triangular matrix.

Select the comect option
invertible &/b\
singular Q S ?- ) .
o °
SN AN

identity
O \ T~

Zero
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MTH501:Quiz-1 Quiz Start Time: 04:43 PM

Question # 8 of 10 { Start time: 04:45:11 PM, 08 December 2020 )

If B is the matrix obtained by interchanging two rows or columns of the square matrix A, then det (B) =

Select the correct option \
- det(A) fO‘

M

b d

det{A)

1/det(A) \ o

-1/detiA)
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Question # 9 of 10 { Start time: 04:45:26 PM. 08 December 2020 )

The matrix of coefficients either have no solution or have infinite solution is system of equation are

N

Select the comrect option ’b\
S

Linearty dependent
\}QO
~ D

Linearly independent | /\/“

o &

Cluadratic and independent \ b

Cluadratic and dependent
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MIHS0T:Quiz-1 Quiz Start 1ime: U4:43 PM. U8 December 2020

Question # 10 of 10 { Start time: 04:45:47 PM. 08 December 2020 ) Total Marks: 1

If A is a square matrix, then the Minor of entry ith row and jth column is to be the determinant of the sub matrix that remains when the ith
row and jth column of A are:

Select the correct option Q
added

deleted
[ | Y
(= : «/ 4

multiplied . N

divided
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